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(SOLUTION) TEST -4 : G.S. SUBJECT (IPM 2023)

Correct Answer : B

Answer Justification :

Correct chronological order is as follows:-

e 1911 :- Annulment of partition of Bengal

e September 1914 :- the Komagata Maru incident .
e 1916 :- Lucknow Pact

August 1917:- August declaration by Montague

Correct Answer : D
Answer Justification :
Swarajya Sabha

In 1920, Gandhi accepted the presidentship of the All India Home Rule League and changed the
organisation’s name to Swarajya Sabha.

Correct Answer : A

Answer Justification :

Lucknow Session (1916)

Readmission of Extremists to Congress

e The Lucknow session of the Indian National Congress, presided over by a Moderate, Ambika Charan
Majumdar and not Annie Besant . Hence statement 1 is incorrect.

e finally readmitted the Extremists led by Tilak to the Congress fold. Hence statement 2 is Correct.

e The death of Pherozeshah Mehta, who had led the Moderate opposition to the Extremists, facilitated the
reunion. Hence statement 3 is correct.

Correct Answer : D
Answer Justification :
Lucknow Pact between Congress and Muslim League 1916

Significant development to take place at Lucknow was the coming together of the Muslim League and the
Congress and the presentation of common demands by them to the government.

Why the Change in the League’s Attitude There were many reasons for the shift in the League’s position:

e This happened at a time when the Muslim League, now dominated by the younger militant nationalists
like Ali brothers ,Maulana Azad ,etc. Hence statement 1 is correct

e Britain’s refusal to help Turkey (ruled by the Khalifa who claimed religio-political leadership of all
Muslims) Hence statement 2 is correct

e The refusal of the British government in India to set up a university at Aligarh with powers to affiliate
colleges all over India also alienated some Muslims. Hence statement 3 is correct.

Correct Answer : C

Answer Justification :

Analysis :- Lucknow pact 1916 .

As per the Lucknow pact, Muslim League and the Congress came together and they presented some
common demands to British government.

Nature of Lucknow pact 1916:-
e The Congress accepted the Muslim League’s position on separate electorates which would continue till
any one community demanded joint electorates. Hence statement 1 is incorrect.

e The joint demands were Government should declare that it would confer self government to Indians at
an early date. Complete Independence was not a demand of INC till Lahore session in 1929. Hence
statement 2 is incorrect.

o The Muslims were also granted a fixed proportion of seats in the legislatures at all-India and provincial
levels. Hence statement 3 is correct.



